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PTO

Answer all 20 Questions from Group-A, each question carries 1 mark.
xzqi&A ls lHkh iz’uksa ds mÙkj nsa] izR;sd iz’u dk eku 1 vad gSA

Answer all five questions from Group-B, each question carries 4 marks.
xzqi&B ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 4 vad gSA

Answer all five questions from Group-C, each question carries 8 marks.
xzqi&C ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 8 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



GROUP-A
1. Choose the most suitable answer from the following options.

¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa½ %&

(i) To display the file content in unix Which command is used?
(a) Cat
(b) LS
(c) More
(d) FC

(i) ;qfuDl ds QkbZy dUVsUV dks fMLIys djus ds fy, fdl

vkns'k dk iz;ksx gksrk gS\

(v) dSV
(c) ,y- ,l-

(l) eksj

(n) ,Q- lh-

(ii) Which type of memory use to speed up the memory access
(a) RAM
(b) ROM
(c) Cache memory
(d) Hard Disk

(ii) fdl izdkj dk eeksjh LihM&vi ds fy, eseksjh ,Dlsl esa

mi;ksx gksrk gSA

(v) jSe
(c) jkWe
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(l) dS'k eseksjh

(n) gkMZ fMLd

(iii) 1 Byte is equal to
(a)  8 - bit
(b) 4 - bit
(c) 16 - bit
(d) 24 - bit

(iii) 1 & ckbZV = -------- gksrk gS\
(v) 8 & fcV
(c) 4 & fcV
(l) 16 & fcV
(n) 24 & fcV

(iv) Light - Pen is a/an
(a) Input Device
(b) Output
(c) Memory
(d) Network Device

(iv) ykbZV isu ,d ---------- gSA

(v) ,e-,e-,Q-
(c) fjyDVsal

(l) eseksjh

(n) usVodZ fMokbZl



(v) 1 KB = ?
(a) 1024 bit
(b) 1024 byte
(c) 256 MB
(d) 1024 MB

(v) 1 ds-ch- = ?
(v) 1024 fcV
(c) 1024 ckbZV
(l) 256 ,e-ch-
(n) 1024 ,e-ch-

(vi) What is the base of octal number system
(a) 8
(b) 2
(c) 16
(d) None

(vi) vkWDVy la[;k i)fr dk csl D;k gS\

(v) 8
(c) 2
(l) 16
(n) buesa ls dksbZ ugha

(vii) Which of the back-bone of computer system?
(a) Operating system
(b) Ms office
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(c) Driver system
(d) Compiler

(vii) buesa ls dkSu dEI;qVj flLVe dk cSd&cksu gSA

(v) vkWIjsfVx flLVe

(c) ,e-,l- vkWfQl

(l) MªkbZoj flLVe

(n) dEIvkbZyj

(viii) Which is Non-Impact printer?
(a) Dot-matrix
(b) Daisy-wheel
(c) Laser
(d) None of the above

(viii) buesa ls dkSu ,d uu&bZEiSDV fizaVj gS \

(v) MkWV&eSfVªDl
(c) Msth&Oghy

(l) ystj

(n) buesa ls dksbZ ugha

(ix) LAN Stands for
(a) Locality Access Network
(b) Local Access Network
(c) Local Area Node
(d) Local Area Network
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(ix) ySu dk eryc D;k gS\

(v) yksfyfV ,Dlsl usVodZ
(c) yksdy ,Dlsl usVodZ

(l) yksdy ,fj;k uksM
(n) yksdy ,fj;k usVodZ

(x) Which among following is first generation of computer
had?
(a) Vaccum Tubes and Magnetic Drum
(b) Integrated circuits
(c) Magnetic Tape and Transisture
(d) All of the above

(x) buesa ls dkSu izFke ih<+h esa Fkk\

(v) oD;qe V;qc ,oa eSxusfVd Mªe
(c) bUVhxzsVM ldZV

(l) eSxusfVd Vsi ,oa VªkWftLVj

(n) mi;qDr lHkh

(xi) Where is RAM located
(a) Expansion board
(b) External Drive
(c) Mother Board
(d) All of above

(xi) jSe dgkW fLFkr gksrk gSA

(v) ,DliSa'ku cksMZ
(c) ,DlVuZy MªkbZo

(l) enj cksMZ
(n) mi;qDr lHkh

(xii) If computer has more than one processor then it is known
as
(a) Uni process
(b) Multi processor
(c) Multi threading
(d) Multi programming

(xii) ;fn fdlh dEI;qVj esa ,d ls vf/k izkslslj ekStwn gks rks

mls D;k dgrs gS\

(v) ;qfu izkslsl
(c) eYVh izkslslj

(l) eYVh Fkz sfMax

(n) eYVh izksxzfeax

(xiii) Which is not an operating system
(a) Ms Windows
(b) Office . org
(c) UNIX
(d) LINUX
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(xiii) buesa ls dkSu ,d vkWIjsfVx flLVe ugha gS\

(v) ,e-,l- foaMkst
(c) vkWfQl-vkSxZ

(l) ;qfuDl

(n) fyuDl

(xiv) Computer monitor is also known as
(a) DVU
(b) CCTV
(c) VDU
(d) VVD

(xiv) dEI;qVj ekWuhVj dks --------- Hkh dgk tkrk gSA

(v) Mh-oh-;q-
(c) lh-lh-Vh-oh-

(l) oh-Mh-;q-

(n) oh-oh-Mh-

(xv) Set of Instruction that tells the computer what to do is
(a) Soft copy
(b) Software
(c) Hardware
(d) Hard copy

(xv) funsZ'kks dk lewg tks dEI;qVj dks fu;af=r djrk gS\

(v) lkW¶V dkWih
(c) lkW¶Vos;j

(l) gkMZoss;j

(n) gkMZdkWih

(xvi) Which of the following is not the network topology
(a) Mesh
(b) Ring
(c) Rectangle
(d) Star

(xvi) buesa ls dkSu ,d usVodZ VksiksykWth ugh gSA

(v) esal
(c) fjax

(l) vk;r

(n) LVkj

(xvii) ............. is the heart of computer
(a) CU
(b) ALU
(c) CPU
(d) None

(xvii) ---------- dEI;qVj dk fny gSA

(v) lh-;q-
(c) ,-,y-;w-

(l) lh-ih-;q-

(n) buesa ls dksbZ ughaA
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(xviii) Personal Computer is connected to form a
(a) Topology
(b) Network
(c) Super Computer
(d) None of these

(xviii) ilZuy dEI;qVj dks dusDV djds ---------- curk gSA
(v) VksiksykWth
(c) usVodZ

(l) lqij dEI;qVj

(n) buesa lsa dksbZ ugha

(xix) Operating system is ............. software
(a) Hard
(b) Soft
(c) Application
(d) System

(xix) vkWIjsfVax flLVe ,d lkW¶Vos;j gSA

(v) gkMZ
(c) lkW¶V

(l) ,Iyhds'ku

(n) flLVe

(xx) The Base of hexadecimal no is
(a) 16
(b) 8

(c) 10
(d) 2

(xx) gsD'kk Mslhehy i)fr dk vk/kkj D;k gS\

(v) 16
(c) 8
(l) 10
(n) 2

GROUP-B
Answer all five questions : 4 x 5 = 20
lHkh ik¡p iz'uksa ds mÙkj nsaA

2. Discuss Batch file command.
cSp QkbZy dekaM dh laf{kIr ppkZ djsaA 4

OR (vFkok)
Discuss booting process of computer in brief
dEI;qVj ds cqfVax izkslsl dh laf{kIr ppkZ djsaA 4

3. What is UNIX Shell?
;qfuDl lsy D;k gS\ 4
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OR (vFkok)
Distinguish between internet and intranet.
baVjusV ,oa baVªkusV esa varj crk,¡A 4

4. What is E-mail ? 4

bZesy D;k gS \

OR (vFkok)
Discuss ASCII code
ASCII dksM dh ppkZ djsaA 4

5. Distingush between copying and installation of any software.
fdlh lkW¶Vos;j ds dkWih djus ,oa baLVkWy djus es a varj

Li"V djsaA 4

OR (vFkok)
Explain the basic concept of installing windowns and its
packages.
foaMkst ds baLVkWy gksus ,oa blds iSdstksa dh eqy vo/kkj.k dh

O;k[;k djsaA 4

6. Discuss how data organized into Hard disk.
gkMZfMLd esa MkVk dks fdl izdkj ckWVk tkrk gS] bldh ppkZ

djsaA 4

OR (vFkok)
Define seck time and latency time
lhd le; ,oa ySVsalh le; dks ifjHkkf"kr djsaA 4

GROUP-C
Answer all Five questions :  5 x 8 = 40
lHkh ik¡p iz'uks ds mÙkj nsaA +:

7. Discuss in detail any four Input devices with suitable diagram.
fdUgh pkj buiqV ;a=ks a dh foLrkj iqoZd] lfp= O;k[;k djsaA8

                                 OR (vFkok)
What is the difference between Hardware, Software and
Firmware ?
gkMZos;j] lkW¶Vos;j vkSj QeZos;j ds chp vUrj D;k gSa \ 8
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8. Explain the function of each unit of block diagram of basic

computer organisation in detail.
daI;qVj ds csfld vkWxsZukbts'ku dh Cykd vkd`fr [khps rFkk

izR;sd bdkbZ ds dk;ksZ dks foLrkj ls fy[ksaA 8
OR (vFkok)

Describe the characteristics of computer and its applications
in new century.
ubZ 'knh esa daI;qVj ds fo'ks"krkvks ,oa mi;ksxks dh foLrkj ls

O;k[;k djsaA 8

9. Solve any four
(i)    (10101111)2 = (..................)10

 (ii)   (70AB)16 = (..................)8
 (iii)  (689)10 = (..................)16
 (iv)  (7392)10 = (..................)8
  (v)   (ADFH)16 = (..................)8

fdUgha pkj dks gy djsaa

(i)    (10101111)2 = (..................)10
 (ii)   (70AB)16 = (..................)8
 (iii)  (689)10 = (..................)16
 (iv)  (7392)10 = (..................)8
  (v)   (ADFH)16 = (..................)8

OR (vFkok)
Explain the concept of shell and kenel in UNIX.
;qfuDl ds lsy vkSj duZy dh O;k[;k djsaA 8

10. Define the concept of Graphic User Interface. Discuss
differences between Windows 95,98, and 2000
xzhQhDl ;qtj baVjQsl dks ifjHkkf"kr djsaA foaMks 95,98, ,oa
2000 esa varj Li"V djsaA 8
                                 OR (vFkok)
Explain Internal & External DOS command-In detail with
relevent example.
bUVjuy ,oa ,DlVjuy MkWl dekUM dh mnkgj.k lfgr O;k[;k

djsaA 8

11. Discuss Internal and its utilities in various domain.
bUVjusV ,oa blds ;qfVfyfV dh vusd Mksesu esa ppkZ djsaA

OR (vFkok)
Explain Client server architecture model of windows NT. in detail.
foaMkst ,u-Vh- dh DykbZV&loZj lajpuk dh O;k[;k djsaA 8

***


